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[ Interpreting Slope and Intercept - Step-by-Step Lesson

Lesson 1 Intercept Problem:

The table below displays the hourly salaries of a company’s employees and

the number of years they were with the company (referred to as leaves).

Make a scatter gram of this data.

leaves | 6 | 4 | 2 | 3|7 l9]lol1|2|3|6|4]|3]1
Sg'r?rﬂ'ss 60 |50 | 40 | 30|55 |65 |45 |35| 70|50 | 75 | 60 | 45 | 70

Explanation:

We will plot the point in the graph according to the given data.

80

70 L L

60

50 e
IR .
E 40 *
a L 4

30 i

20

10

Leaves

1 Tons of Free Math Worksheets at: © www.mathworksheetsland.com




